Term 5 Session 3
Verbal Reasoning — Letter Connections

Find the pair of letters that completes each sentence in the most
sensible way. Use the alphabet to help you.

ABCDEFGHIJKLMNOPQRSTUVWXYZ

Look at this example:

AD is to BE as MP is to ( NQ )

1. CHistoEJasLNisto( N P

2. RUiIstoTWasFH isto (
3. GJistoFlasOR s to ( |!

4. FRistoJVasLSisto (P \u
5. AZistoCXasBYisto( D W/

6. CBisto HG as NM s to ( 5'\1

7. ADistoZEasPRisto ( QS
8. YMistoAOasLFisto ( NH)
9. JOistolLasQYisto (G M
10. SH is to VE as WD is to {Z_A
11. PSisto LRas BGisto (A _f)
12. LOisto IRasRlisto (OL)

13. NUistoIPas DA is to {‘Lv}

14. SListo VlasRBisto (\J Jf

15. QJisto MN as UFisto (@)
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Non-Verbal Reasoning — Vertical and Horizontal Codes
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Maths — Area and Perimeter

Look at the shaded area on this grid.

1

Which of the following shaded areas has the same perimeter as the one above?

AR
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Kishori has spilled a drink on a piece of squared paper. | This shape is made up of three identical rectangles.

2cm

. 5

1cm
Which is the best estimate for the area of the spill?
What is the perimeter of the shape?

O a) 22cm? .

() a) 38cm
@ b) 19 cm?

() b) 32cm
Q) ¢ 13 cm? "

() ¢ 30cm

() d) 15cm? Vd) 34 cm

() e) 10cm? () e) 36cm

Chris uses straight wooden sticks to make a regular polygon with a perimeter of 15 cm. One of its sides is 3 cm long.

How many sides does the polygon have?

() a) 4
() b) Cannottell
O a7
() d 6

@/e)5

A regular heptagon has a perimeter of 14 mm.

What is the length of each side of the heptagon?

() a 4mm
() b) 9mm
O o 1mm
() d) 7mm
@ e) 2mm
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A rectangle has a width of 4.5 m and a perimeter of 22 m.

What is the rectangle’s length? I'L- ﬂ - I ‘5
-

@/a) 6.5m
() b) 13m t'. I.l.'s I'\-'L:CS

() ¢ 875m
() d Mm
() e 55m

Amir is tiling his bathroom wall with identical tiles. Each tile is made of 4 identical square sections. One tile is shown.

20 ~lo -

HE 3

The perimeter of the tile is 20 cm. What is the area of the tile?

%6 cm?

() b) 25cm?
() ¢ 100 cm?
() d) 20cm?
() e) 4cm?

One side of a regular hexagon is 4 m long.

The shape below is shaded on squared paper. Each square has sides of length 5 mm

What is the perimeter of the hexagon?

f X S; L{
() a) 32m
What is the area of the shape? '_LS 4 S’ d b) 24 m

() a) 160 mm?
- () ¢ 28m
() b) 120 mm?
() ¢ 8omm? O d) 16 m
‘fi%ﬂ 200 mm?
() e 300mm? O e) 20m
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Spatial Reasoning — REVISION
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